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BERRE

SHN7EERERERHKERTE

4 L IR - WAKTiE By = i oo ) i

EEIZE 62, 686, 751
BEKHEER 62, 686, 751
REET 23,251, 391
1RG5 BB R 752, 791
BEkiR 752, 791
1 BMIREE 22x1,524 % 6, 096 131.00 312. 80 40, 976

m2
2 HEkIRERE - BE 22x1,524 % 6, 096 446. 00 607. 20 270, 811

m2
3 EgktREH (1) 221,524 x 6, 096 14.00 6,794. 00 95,116

®
4 kiR ER (2) 221,524 x 6, 096 48. 00 7, 206. 00 345, 888

®
T8I 6, 409, 501
&R (1) EHM-3_(hE, EHEH-19_fHE 6, 409, 501
5 #XIREA HEEASIHRZE WIBEA) L=9.0m 120. 00 31, 660. 00 3,799, 200

®
B ETE HEEASI#RE L=9.0m 2400 10, 080. 00 241,920

®
7 MERRERA) m# L=<9.0m #T%+35l3k 12.24 13, 270. 00 162, 424

t
8 MERIREH (2) m# L=9.0m 3TROH 46. 08 6, 390. 00 294, 451

t
9 SHEXMIEASHREEET - 82K (1) EA 2.00 193, 200. 00 386, 400

[B]
10 SREXMEA S HREEFE - 21K (2) 314k 1.00 79, 490. 00 79, 490

[B]
11 17 208 24.00 5,809. 00 139, 416

L
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BERRE

SHN7EERERERHKERTE

% L IR - WAKTiE B = B {f ) i

12 XM E (£18) Mm% L=1.00m/# 1.44 180, 000. 00 259, 200
t

13 #8K SRR (1) 1.00 1,047, 000. 00 1,047, 000
=

I® 1,777,530

xR (2) BEAEM-19_fFiE 1,777,530

14 ARIREA NS-SP-J {Z#HET WJBHA) 11.00 59, 740. 00 657, 140
®

15 $Xm31RE NS-SP-J Z#fET 11.00 26, 310. 00 289, 410
®

16 SEREH NS-SP-J L=9.5m #T&+3Iik 11.00 17,080. 00 187, 880
®

17 EAKERE - 5 NS-SP-J Z&fET 1.00 252, 600. 00 252, 600
[B]

18 #a7K fHRAR (2) NS-SP-J 1.00 390, 500. 00 390, 500
=

I0 2,153, 451

TAH#BESLE BER (Emk-4~EHEH-10~EHKim-3) 2,153, 451

19 =TAHXESEBEA () H<2. 5m 107. 00 5,169. 00 553, 083
m

20 -TRAABEHLEEAQ) 2.5m=H<3.0m 4.00 5,998. 00 23,992
m

21 FTRraESEESHR0) H<2. 5m 107. 00 2,822.00 301, 954
m

2 FTRAHESEESIR Q) 2.5m=H<3.0m 4.00 3, 268. 00 13,072
m

23 FTRABEBEIEEHRD) 1+ ~15m, 2.5% 75. 00 8, 160. 00 612, 000
m2

24 FTRAABEBEIEER Q) 1+ ~15m, 3. 0% 90. 00 7,215.00 649, 350
m2

I® 5,370, 658




BEANRE SH7EEERESHKERTE
£ £ R - TRk B g it & & w =

X (4) EEREEE. o2 —HEAOE 5, 370, 658

25 SHRREA HEEASIHRZE WIBEA) L=9.0m 71.00 26, 920. 00 1,911,320
®

26 $MEARBIHRE HEEABIRE L=9.0m 71.00 8,292. 00 588, 732
®

27 SRIRER mM& L=<9.0m 3T®+3Ik 36. 21 13,180. 00 477,247
t

28 SHEXMEASIRIEE - BRI (1) |[EA 3.00 151, 900. 00 455, 700
m

29 SHEXMEASIRIEES-RIK (2  [3lik 3.00 63, 340. 00 190, 020
m

30 7" ALIET 71.00 5, 809. 00 412, 439
Gk

31 HREHMHE (£18) m# L=1.00m/# 4.26 180, 000. 00 766, 800
t

32 #K i R 4R (4) 1.00 568, 400. 00 568, 400
%

TEI6 1,183,890

#2145 (5) ERREERED . 46 RERRE 1,183, 890

33 MERREA NS-SP-J {Z#HET WJBHA) 7.00 52, 750. 00 369, 250
®

34 MRARBIHRE NS-SP-J Z&fET 7.00 22, 800. 00 159, 600
®

35 MRIRE R NS-SP-J L=9.5m #T&+3Iik 7.00 16, 920. 00 118, 440
®

36 EAHRE - X NS-SP-J Z&fET 1.00 209, 400. 00 209, 400
m

37 #K &4 (5) NS-SP-J 1.00 327, 200. 00 327,200
%

BEEL 392, 416

BIR-BIREZH & B A T AR 392, 416




HERNRE SH7EEEME SRR TSE
& # s - R 3 B
38 BIM-BIRZHHRE BE .00 8,982. 00 287,424
39 BEIREH .00 ,274.00 72,768
40 BIRZHT - RHEH .00 ,007.00 32,224
KET 712,902
R THEK 712,902
4 Ry THKHHEE Yo 3vk—R 00 .002. 00 350, 002
42 HKRY THRE-BE ) .00 ,400. 00 136, 400
43 PR TRE - BEQ) .00 ,100. 00 90,100
44 HEKRY THRE .00 ,400. 00 136, 400
FHE&ET 500, 652
mlhE 457, 656
45 BEMEE .00 ,156. 00 357, 156
46 RIHERE - BE .00 ,500. 00 100, 500
Bk

RSRELER (RV5vF) 42,996
47 BISHSE RTEA - FrE .84 9,083 25,795
48 HIZFE RIERR .84 6, 057 17, 201
REEET 3,997, 600
RBFEERSE 3,997, 600




BRERNRE SH7EEEMEEHAKERTE
£ g g - BAKTE BfI 2 B £ wmE
49 RREER() RBFEEEHREB (KD 94.00 22, 800. 00 2,143, 200
AH
50 RRER (2) RBFEEHEER (RE) 122.00 15, 200. 00 1, 854, 400
AH
BENMRETL 2,146, 647
MERELT 867, 812
SHEE R U B 175, 414
51 7R T 7 )L EhEERREIER (1) t=bcm, t=4cm 170. 00 925.8 157, 386
m
52 7R T 7L EHERRYIER (2) t=bcm, t=4cm 26. 00 693. 4 18,028
m
SHLE R B RS 489, 388
53 7R T 7 )L EREIRERE - $83A (1) (t=bem. t=4cm 567. 00 807.7 457, 965
m2
54 7R T 7 )L FEHEIRER - $83A (2)  t=bem, t=4cm 53.00 592.9 31,423
m2
RRIE 99, 310
55 7 X7 7 )L haREHE (1) BIEM~RES 24.00 1,156 21,744
m3
56 7R T 7L FEEE (2) MEI&Em~BERILESE 2.00 2,963 5,926
m3
57 7R 7 7 )L FkigiA RES 24.00 280 6,720
m3
58 7R T 7L FEElE () REZ~BERILESE 24.00 2,455 58, 920
m3
05 103, 700
59 5 & TRAI7I 5% 61.00 1, 700. 00 103, 700
t
HiEYRELT 1,261,844




BERRE

SHN7EERERERHKERTE

% g g - BAKTE B 2 fill i) IS

Vo) — FMEEYEIEL 823, 838

60 EFHEEYEEL (1) W T 39.00 15, 640. 00 609, 960
m3

61 EFHEEYEZEL ) W T 0.40 11, 060. 00 4,424
m3

62 KFEEYEREL (1) W T 7.00 27, 980. 00 195, 860
m3

63 SRFHBEYERIEL 2) W T 0.70 19, 420. 00 13,594
m3

R IE 217, 841

64 EEHO D) — FRERK (1) -1 IR ~RES 39.00 1,216 47,424
m3

65 |EH V) — FRRFERA(1)-2 RES 40. 00 280 11, 200
m3

66 |EEHD ) — FRRERK(1)-3 REZ~BERILESH 39.00 2, 455 95, 745
m3

67 EEHOD ) — FRRERK Q) IR ~BERIEHER 0.40 2, 455 982
m3

68 ka2 ) — FRERK (1) -1 IR ~RES 7.00 1,486 10, 402
m3

69 #EaV)— FERRFERA(1)-2 g5 7.00 280 1,960
m3

70 $Ea 2 )— FEERK (1)-3 REZ~BERILHEH 7.00 6,511 45,577
m3

N gBHary)— FERK Q) IR ~BERIEHER 0.70 6,511 4,557
m3

AT 199, 000

2 nnE |HOT)— 90. 00 2,000. 00 180, 000

t
3 unnsE BT ) — % 19.00 1,000. 00 19, 000
t
REFERER (RV5v7) 21,159




BERNRE SH7EEERESHKERTE
4 L IR - WAKTiE B = i ) S
74 RIS FAE SFEA - FHE 0.94 13,510 12, 699
t
75 RIS HEE B JL—F & 0.94 9,001 8, 460
t
BRAL 16, 991
BET 15, 997
76 3o )—bhya—Ukh |2y )— b+ t=20cm 3.00 3, 469. 00 10, 407
m
77 &S — FERIEL ANNET 0.10 54,070. 00 5, 407
m3
18 EFHOY ) — FRIERAH i T & FT 0.10 1,834 183
m3
FRE 394
19 | ) — FFERK (D) BIER~RES 0.10 1,216 121
m3
80 EfHa LY ) — FRIEA RES 0.10 280 28
m3
81 |2y ) — FROEE (D) RESB~BERILIESR 0.10 2,455 245
m3
TIT 600
82 WHE | — R 0.30 2, 000. 00 600
t
SHET 1,434, 389
FTRAI7IL MEHET EEE) 90, 324
3 23,152
83 E&fE (1) RM-25 t=12cm 29. 00 648. 2 18, 797
m2
84 EX#E (2) RM-25 t=12cm 5.00 871 4,355
m2




RERREK BH7FEEALEHKERTE
4 [} g - BAKTE B = i % i

=B 67,172

85 & (1) BAEZHETFT A3 (13) t=bcm 29 00 1,943 56, 347
m2

86 xIJE (2) BAEZHEF7 A3 (13) t=bcm 500 2,165 10, 825
m2

FAI 7L FRHET (HER) 133, 533

BRAE 37, 941

87 &fE (1) RC-40 t=10cm 24. 00 908.9 21,813
m2

88 R&fiE (2) RC-40 t=10cm 12.00 1,344 16,128
m2

=B 95, 592

89 & (1) BAEZHET7T A3 (3) t=4cm 2400 2,420 58, 080
m2

90 %[E(2) BAEZHET7T A3 (3) t=4cm 12.00 3,126 37,512
m2

7 AT 7L MRET G5EERE) 1,210, 532

BRAE 353, 522

91 pRfE RM-25 t=9cm 462. 00 765. 2 353,522
m2

=B 857,010

92 ®/E BEBRMET7Ra2(3) t=4cm 462.00 1,855 857,010
m2

Hk#EEMT 34,720, 315

E¥LXT 5,620, 922

BRIEY D 468, 445




BERREK SH7TEERAZSHKERTE
% g g - BAKTE B 2 il i) 18

93 FRiE (1) BE 660. 00 318.1 209, 946
m3

94 FR1E (2) INRAR 50. 00 3,027 151, 350
m3

95 EEEIF 143.00 749.3 107, 149
m2

RIEY @ PEF: S 50, 047

96 ER1E 110. 00 317.9 34,969
m3

97 HEEI 32.00 471.2 15,078
m2

BRLO 1,443,010

98 R L (1) Im=W<4m 6.00 2,885 17,310
m3

99 IR L (2) W<1m 250. 00 4,778 1,194, 500
m3

100 R L (3) INRE 40. 00 5,780 231, 200
m3

BRLO 177,030

101 #EREL Im=W<4m 90. 00 1,967 177,030
m3

TRYEER 1,062, 390

102 &Mk (1) L& ~RES 420.00 622. 6 261,492
m3

103 TRbFEIA RES 420.00 234.9 98, 658
m3

104 LHRVEEEHE (2) REZ~BERILESH 420. 00 1,596 670, 320
m3

105 LHEbEEEHE (3) IR ~BERIEMHER 20. 00 1,596 31,920
m3

KrELS 2,420, 000




BRHERRE SH7EERBZS KR TS
% R R - KT B 2 ] ® % 18
106 M5 E R 440. 00 5,500. 00 2,420, 000
m3
BEID 10, 139, 440
BB aERAIE FARED (FERHi-4~EHH-10~Eim-3) 8, 667, 890
107 B QEAIE (1) #twr A 700 x 1400mm 500 75, 730. 00 378, 650
m
108 EHEAEAIE (2) Mt A 700 x 1500mm 69. 00 79, 380. 00 5,477, 220
m
109 BHEAEAIE () #twr A 700 x 1600mm 30. 00 82, 310. 00 2. 469, 300
m
110 BESERIE 4) #twr A 700 x 1700mm 4.00 85, 680. 00 342,720
m
BEE 1,471,550
111 ZhR (1) a4y 1)—+Z&E B=700mm 76. 00 11, 470. 00 871,720
L3¢
112 &k (2) &£kZE B=700mm 19. 00 31, 570. 00 599, 830
L3¢
BEIQ 531, 453
BHAEEE BRI, £o2—HAOSR 525, 889
113 BEHAERAE (1) 1&BR A 400 x 900mm 2.00 81, 260. 00 162, 520
m
114 BERAERAE Q) 1&BR A 400 x 1000mm 2.00 98, 680. 00 197, 360
m
115 BB AIE () #twr A 300 x 500mm 500 18, 630. 00 93, 150
m
116 BEAERIE 4) #twr A 300 x 1000mm 2 00 33, 570. 00 67,140
m
17 $&&T (1) SD345 D13 0. 01 178, 700. 00 1,787
t
118 &I (2) SD345 D13 0.02 196, 600. 00 3,932

10




BERNRE SH7EEERESHKERTE
£ 5 R - AR B 2 B @ ) &
fIES 5,564
119 Zhi (1) JL—F 5% B=400mm (BEFA) 1.00 1,474.00 1,474
®
120 &k (2) JL—F 5% B=400mm (FHA) 1.00 2,206. 00 2,206
®
121 &k (3) JUL—F 5% B=300mm (BFA) 3.00 628. 00 1,884
®
BRET 7,044,138
FRPNE 1,638,578
122 MEE FRPME ¢ 1000, B4R, EBFJRZRT—7 1.00 1, 638, 578. 00 1,638,578
=
FRPNE (1) oA —HAOR 21,032
123 BhEREEE BEWD InsSW<dm 2.00 2,885 5,770
m3
124 FRPNE 4% ¢ 1000mm (4} £ & 27&) 3.00 5,087.50 15, 262
m
FRPNE (2) B 53,328
125 BhEREEE BEWD InsSW<dm 8.00 1,967 15,736
m3
126 FRPME 2% ¢ 1000mm (¥} £ & 27&) 11.00 3,417.50 37,592
m
BKE 5,331, 200
127 HEKEMHE EEERVIFLUE 1.00 5, 331, 200. 00 5,331, 200
=
EHRmT 10, 749, 120
TLE v R HEGHA) -4 3,193,515
128 7" VivabsEkig (ML E) (1) AR, JL—F 0%, BE#EY 1.00 2,568, 000 2,568, 000
=
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BRERNRE SH7EEEMEEHAKERTE
£ [ g - BIKHE Bifr = B 5 18

129 ERRA RC-40 t=20cm 5.00 2,179 10, 895
m2

130 EHEa2 1 — pEER 2.00 14,990 29,980
m2

131 EHEa 91— MTE 18-8-40BB  W/C=60% 1.00 80, 380 80, 380
m3

132 BLELAL t=20mm 1 : 3 0.08 144,500 11, 560
m3

133 TLE¥v R MEEMEEQ) 1500 x 2000 x H2100mm 1.00 492, 700. 00 492, 700
H

TLE v R MERR Q) HEEM-10 2,004, 535

134 7" V32 bk (M HE) (2) K. JL—FUVE. BEeY 1.00 1, 560, 000 1, 560, 000
H

135 &EHE#BRA RC-40 t=20cm 3.00 2,179 6, 537
m2

136 a2y — pEER 1.00 14,990 14,990
m2

137 @) — TR 18-8-40BB W/C=60% 0. 60 80, 380 48,228
m3

138 BLELZIL t=20mm 1 : 3 0.04 144,500 5,780
m3

139 L ¥+ R MERMEE (2) 1200 x 1200 x H2100mm 1.00 369, 000. 00 369, 000
H

Tl v R MEREHQO) Heim -3 2, 490, 870

140 77 LA bk (M HE) (3) K JL—FUVE. BEeY 1.00 1,969, 000 1,969, 000
H

141 &RRA RC-40 t=20cm 4.00 2,179 8,716
m2

142 ERa ) — pERR 2.00 14,990 29,980
m2

143 BEfEa L) — MTE 18-8-40BB W/C=60% 0. 80 80, 380 64, 304
m3

144 BLELZL t=20mm 1 : 3 0. 06 144,500 8,670
m3
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BERRE

SHN7EERERERHKERTE

£ 5 g - BAKTE Bify = ] 2 wmE

145 TL¥ v X MEEMEE () 1500 x 1500 x H2400mm 1.00 410, 200. 00 410, 200
#®

TLF* v R HERH 4) HEfHi-19 3,042,070

146 7" LA MK B (ML E) (4) KK, JL—F 0%, BE#EY 1.00 2,479, 000 2,479, 000
#®

147 EH#RG RC-40 t=20cm 4.00 2,179 8,716
m2

148 EHa >y — LB 2.00 14, 990 29, 980
m2

149 EHBEa 25— MTR 18-8-40BB W/C=60% 0.80 80, 380 64, 304
m3

150 HEILZIL t=20mm 1 : 3 0.06 144,500 8,670
m3

151 TL¥ v R MEEMEE 4) 1500 x 1500 x H3300mm 1.00 451, 400. 00 451, 400
#®

PAVEXS US> 16)) Em-1 (BRI 18,130

152 L ¥+ R MEHRMEE 5) 900 x 1000 x H1150mm (B FIFA) (BHMEED) 1.00 18,130 18,130
#®

RAL 635, 242

mEEZ 564, 530

153 EHaH ) — LB 3.00 14, 990 44,970
m2

154 a5 )— MTR 18-8-40BB W/C=60% 2.00 80, 380 160, 760
m3

155 BELZIL 0.30 144,500 43, 350
m3

156 EEERE - /E ¢ 1000 (FFIF) 15.00 21,030 315, 450
m

Phiga>vU—+ 70, 712

157 B>y ) — LR 4.00 13, 600 54, 400
m2
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HEEWERE SH7EEERESIKERTE
4 [} R - wAKTiE B = fii ) =

158 BhEa >V 1) — MTER 18-8-40BB W/C=60% 0.20 81,560 16,312

m3
BT 195, 952
HET 195, 952
RE 189, 970
159 382 T £EE 110. 00 1,727.00 189, 970

m2
BFwst 5,982
160 & FIRfTT 30. 00 199. 40 5,982

m2
HEEHRT 615, 585
WMID 85, 965
T VARE 85, 965
161 #IR 7 v RBE H=1800mm (g 2 1) 33.00 2, 605. 00 85, 965

m
WMI@ 529, 620
TIVARE 529, 620
162 [REFIR T T o REE H=2000mm 42.00 12, 610. 00 529, 620
m

EBRAEERT 243, 812
BER{TEEET 49, 940
BER{TEEET 49, 940
163 HEWRBALTRE - |17 1.00 49, 940. 00 49, 940

&l

14




BEANRE SH7TEEERAEEHKERTE

4 L IR - WAKTiE B B = B {f oo ) S

REHRI 14, 854
AR RE R 14, 854
164 XEHRRE (1) E@mxX B8 KM -85 - XF W=15cnf&E 8.00 1,161.00 9,288

m
1656 XERRE (2) BmamX B8 EH W=1b5cm 15. 00 371.10 5,566

m
BEIL 168, 728
thEER IOV Y 109, 768
166 HEER T Oy I #E (1) 14. 00 2,183 30, 562

m
167 HEER IO v U %E () Aig (BRAD 12.00 5,394 64,728

m
168 HEER IOy A (2) 3.00 1,406 4,218

m
169 #EER IO v U %RE (2) Aig (BRAD 3.00 3,420 10, 260

m
SEEER IOV 58, 960
170 SEESER IOy I BE 11.00 1,406 15, 466

m
1M $EEER IOV IRE BfE (B#FA) 11.00 3,954 43, 494

m
BRI T 10, 290
H— K4 7 (BhzEH) 10, 290
172 BhEEMBET 3.00 1, 060. 00 3,180

m
173 THEEMERET T A H=700mm (FEFA) 3.00 2.370.00 7,110

m
T 78, 660
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BEANRE SH7TEEERAEEHKERTE

£ b g - BAKTE B #H =2 B * H =
BT 78, 660
K& B FLIEE - BAE 78, 660
174 th FKGIERBIFLIEE - BAZE 1.00 78, 660. 00 78, 660
(&L
HEREZE FEL) 2,858, 354
HE R 2,858, 354
HBEREE 2,858, 354
EfRE 1,313,819
B EMERE 142, 000
175 BEREHERE TOonNA5—, "NIJ—a=v + (FHE) (&Ex2 2 00 71, 000. 00 142,000
@) “
M IEMRE 1,171,819
176 {RExMEER (1) MRk, Bk, BIR, 20 - 28 (ER) 142.37 3,410.00 485, 481
t
177 {RERM &k (2) fHRIR. Bk, BIMR. 2H#7 - 28 (B 96. 29 3,410.00 328, 348
t
178 {RERMEFFEAAEEIL (1) F& 142. 37 1, 500. 00 213, 555
t
179 {RERMEFFEAAEEIL (2) B/ 96. 29 1, 500. 00 144, 435
t
EiwE 122,035
®LIlE 75, 435
180 &1k t=10cm 10. 00 873.70 8,737
m3
181 T EHK (1) BIER~RES 10. 00 878.9 8,789
m3
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BEANRE SH7TEEERAEEHKERTE

4 [} IR - WAKTiE B B = B {f & £ =

182 ®EFEA REH 10. 00 234.9 2,349
m3

183 & L&k (2) REHZ~BERILIER 10. 00 5,556 55, 560
m3

nneE 21, 600

184 MHE xt 10. 00 2,160. 00 21, 600
m3

BEMRE 25, 000

185 HEEMRE i 1.00 25, 000. 00 25,000
m2

2L2E 1,422, 500

REEBRE 1,422, 500

186 &A= 1.00 1,165, 000. 00 1,165, 000
=

187 &yt 1.00 257, 500. 00 257, 500
=
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WIEE SHN7EERERERHKERTE

% g R - KSR Bifr B 2 B i & B W =
EEIEE 62, 686, 751
MEIEE 9,336,032 + 21,347,739 30, 683, 771
HERERE GDH 2,858,354 + 5,770,110 + 707, 568 9,336, 032
HBRBE (FEL) 2,858, 354
HBERER (R) 61,844,701 x 9.33% ((7.74% +1.5% x 1.01) 5,770,110
BSRENER 59,963,451 x 1.18% 707, 568
RisEEER 71,159,133 x 30.00% ((28.41% +1.00%) x 1.02) 21,347,739
TER 62,686, 751 + 30, 683, 771 93,370, 522
—REEES 92,506,872 x 17.27% (17.27% x 1.00) — 3,900 15,972, 036
KRR HE 92,506,872 x 0.04% 37,002
RISy 7T -289, 560
T &l 93,370,522 + 15,972,036 + 37,002 — 289, 560 109, 090, 000
HETR SR L 109,090,000 x 10.00% 10, 909, 000
FEIZRE 109, 090, 000 + 10, 909, 000 119, 999, 000




BfR-BEI/ \vr—>

M7 EERRZERKESRTE

&5 1
B BEkARERE  22x 1,524 6,096 100m2%HY
2 b g - BIRTE BT H = it %8 # & &
TAR—ARHEER
A 0.152 48, 820. 00 7,420
U
A 0.152 46, 220. 00 7,025
LEEXS
A 0.152 37, 460. 00 5,693
Ny (Jr-58Y) iR
B 0.152 71, 330. 00 10, 842
HHE (E+F5H0)
% 1.000 30, 980. 00 300
& Hi 1E%HEH : 100.00m 2 312. 80 31, 280
FHEEENEE - HY THIERS - EiEfEE (1. 500]
FHE—EME B L BERASIRIIC L BMWIE - HY [1.06] EEETE
&5 .2
B BEAIRERE A 22x 1,524 x6,096 100m 2 % Y
2 b g - BIRTE BT H = it %8 # & &
TAR—ARHEER
A 0.295 48, 820. 00 14, 401
U
A 0.295 46, 220. 00 13, 634
LTEEXS
A 0.295 37, 460. 00 11, 050
Ny (Jr-58Y) iEEg
B 0.295 71, 330. 00 21,042
HHE (E+F5H0)
% 1.000 60, 127. 00 593
& Hi 1E%HEH : 100.00m 2 607. 20 60, 720
FHEEENEE - HY THIERS - EiEfEE 1. 500]
FHE—EME T L EERASIRIIC L BMWIE - HY [1.06] EEETE




BfR-BEI/ \vr—>

M7 EERRZERKESRTE

&5 :3
L BSkARER (1) 22x1,524%6,096 14y
£ 5 L - BIRTiE BT = i %5 i " =
HEHMREN 22%x1524x6096 90BHUNRN
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